CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:	Capital Improvement
AGENDA DATE:	August 21, 2018
CONTACT PERSON/PHONE:	Sam Rodriguez, P.E., City Engineer, (915) 212-1845 Bruce D. Collins, Purchasing Director, (915) 212-1181
DISTRICT(S) AFFECTED:	1, 3, 4, 6, 7
STRATEGIC GOAL:	No. 3: Promote the Visual Image of El Paso
SUBJECT:	
Discussion and action to award Solic Paving Company for an estimated tot	citation No. 2018-656 Street Median & Parkway Landscape Improvements to Allied cal amount of \$6,112,689.90.
BACKGROUND / DISCUSSION:	
Airport Rd., George Dieter from Mc Westwind and Sean Haggerty from M medians and sidewalks. The project	s for the Median and Parkway Landscaping for 6 Corridors. Airway from I-10 to ontwood to Vista Del Sol, Montwood from Viscount to McRae, Redd from I-10 to McCombs to Aaron. The new landscape design will complement the existing streets, enhances the aesthetics as drivers and pedestrians travel through the corridors. Other riewed for inspiration and consistency.
SELECTION SUMMARY:	
Solicitation was advertised on May 2 on May 22, 2018. The email (Purmai viewers online. Five (5) bids were recommendated	2, 2018, May 29, 2018 and June 5, 2018. The solicitation was posted on City website il) notification was sent out on May 24, 2018. There were a total of seventy-four (74) ceived, all from local vendors.
<u>PROTEST</u>	
No protest received for this require	rement.
Protest received.	
COUNCIL REPRESENTATIVE E	RIEFING:
Was a briefing provided? Yes or If yes, select the applicable distric	
District 1 District 2 District 3 District 4 District 5	

PPS FORM 001, Rev. 3, 8/9/2016 (Discard Previous Versions)

District 6

District 7 District 8 All Districts
PRIOR COUNCIL ACTION:
N/A
AMOUNT AND SOURCE OF FUNDING:
Amount: \$6,112,689.90 Funding Source: Federal Highway Administration (FHWA) and Certificates of Obligation
BOARD / COMMISSION ACTION:
N/A

DEPARTMENT HEAD:

COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the **REGULAR** agenda for the Council Meeting of **AUGUST 21, 2018**.

STRATEGIC GOAL: NO.3 Promote the Visual Image of El Paso

Discussion and action on the award of Solicitation No. 2018-656 Street Median and Parkway Landscape Improvements to ALLIED PAVING CO. OF EL PASO, INC. for a total estimated award of \$6,112,689.90. This project consists of improvements for the Median and Parkway Landscaping for 6 Corridors; Airway from I-10 to Airport Rd., George Dieter from Montwood to Vista Del Sol, Montwood from Viscount to McRae, Redd from I-10 to Westwind and Sean Haggerty from McCombs to Aaron. The new landscape design will complement the existing streets, medians and sidewalks. The project enhances the aesthetics as drivers and pedestrians travel through the corridors. Other nearby landscaped corridors were reviewed for inspiration and consistency.

Department: Capital Improvement

Award to: ALLIED PAVING CO. OF EL PASO, INC.

El Paso, TX

Item(s):

Term: 240 Standard Work Weeks

Total Award: \$6,112,689.90

Account No.: 190 – 4950 – 38170 - 580270 – PCP15TRAN03

Funding Source: Federal Highway Administration (FHWA) and Certificates of Obligation

District(s): 1, 3, 4, 6 and 7

This is a Low Bid, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to ALLIED PAVING CO. OF EL PASO, INC., the lowest responsive, responsible bidder and that Accent Landscape Contractor's, Inc., be deemed non responsive based on General Conditions 2L Section 7 – All blank spaces for bid prices were not filled in. The award is contingent upon TXDOT concurrence of award.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award, contingent upon concurrence of award from TXDOT.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract change orders necessary for proper contract administration in accordance with Texas Department of Transportation (TXDOT) requirements which do not revise the estimated award and change orders that are in accordance with applicable law.

DATE: 8/16/2018

Bid Tab Summary

2018-1656 Street Median and Parkway Landscape Improvements

	Base Bid	
	Contractor	Base Bid
1	Allied Paving Company of El Paso, Inc.	\$6,112,689.90
2	Jordan Foster Construction, LLC	\$6,567,506.50
3	Venegas Engineering Management and Construction	\$7,176,281.18
4	ZTEX Construction, Inc.	\$7,219,115.75
5	Accent Landscape Contractors, Inc.	\$41,113,003.24





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

BID DATE: JUNE 20, 2018

DEPARTMENT: CAPITAL IMPROVEMENT

	AIL. OONL 2	0, 20.0							•		
						·B	PE CONTRACTORS, IC.		G COMPANY OF SO, INC.	JORDAN FOSTER LL	
						EL PA	SO, TX	EL PA	SO, TX	EL PAS	SO, TX
						BIDDEF	R 1 OF 5	BIDDEI	R 2 OF 5	BIDDER	3 OF 5
4517 1517 1516	100 mg (100 mg	1897/653765	122.00 (042) (342) 140.00 (122) (42)			CITY BASE	BID				
position/disc	252 (351 byg) (351 (351 (35	VICESCIASTIS, VICES		isan sanati alem	BASE	BID UNIT PRICI	ESCHEDULE	Celonofer (Slove) pratition of through on a			
	diging the control of	ujšuušivisti			\mathbb{I}	XDOT CSJ: 092	4-06-498				
	ITEM-CO	DE	100000000000000000000000000000000000000		pour la violance en cura marcha en la company						
LINE ITEM NO.	ITEM NO.	S.P. NO.	דואט	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
				S 15 15 15							
1.	100 6001		AC -	15.557	PREPARING ROW	\$793.00	\$12,336.70	\$7,625.86	\$118,635.50	\$2,000.00	\$31,114.00
2.	100 6013		EA	125	PREP ROW (TREE) (2" TO 12" DIA)	\$68.69	\$8,586.25	\$181.00	\$22,625.00	\$300.00	\$37,500.00
3.	104 6009		SY	4385	REMOVING CONC (RIPRAP)	\$13.94	\$61,126.90 CONTRACTOR'S PRICE: \$61,258.45	\$18.85	\$82,657.25	\$25.00	\$109,625.00
4.	110 6003		CY	6111	EXCAVATION (SPECIAL)	\$63.97	\$390,920.67	\$22.44	\$137,130.84	\$35.00	\$213,885.00
5.	170 6001		LS	6	IRRIGATION SYSTEM	\$216,228.00	\$1,297,368.00 CONTRACTOR'S PRICE: \$216,228.00	\$108,421.23	\$650,527.38	\$200,000.00	\$1,200,000.00
6.	192 6001		EA	608	PLANT MATERIAL (4" CNTR)	\$6.75	\$4,104.00	\$10.72	\$6,517.76 CONTRACTOR'S PRICE: \$6,550.47	\$6.00	\$3,648.00
7.	192 6015		LF	2662	LANDSCAPE EDGE	\$7.93	\$21,109.66	\$5.31	\$14,135.22 CONTRACTOR'S PRICE: \$14,148.00	\$7.00	\$18,634.00





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

BID DATE: JUNE 20, 2018

DEPARTMENT: CAPITAL IMPROVEMENT

		-,									
9701925(5)						ACCENT LANDSCAP			G COMPANY OF	JORDAN FOSTER	
						INC			SO, INC.	LL(
						EL PAS	•		SO, TX	EL PAS	•
						BIDDER CITY BASE E		RIDDE	R 2 OF 5	BIDDER	3 OF 5
			Million of State of S		DACE	the distribution and acceptable to the street, and acceptable and a second second					
						BID UNIT PRICE	and the second of the second the second of t				
10.066.08			microsoffin con		1,	XDOT CSJ: 0924	1-00-498				
LINE	ITEM-CO	DE	500000000000000000000000000000000000000								
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
(v. 16- 15)	(887/88) (88) (88-15) (88			6500 is 150 Set							
8.	192 6017		SY	77098	VEGETATION BARRIER	\$1.52	\$117,188.96	\$0.80	\$61,678.40	\$1.50	\$115,647.00
9.	192 6023		EA	40	PLANT MATERIAL (15 GAL) (TREE)	\$128.00	\$5,120.00	\$101.82	\$4,072.80 CONTRACTOR'S PRICE: \$4,072.62	\$175.00	\$7,000.0
10.	192 6030		EA	734	PLANT MATERIAL (3 GAL) (SHRUB)	\$23.95	\$17,579.30	\$19.52	\$14,327.68 CONTRACTOR'S PRICE: \$14,326.58	\$23.00	\$16,882.0
11.	192 6031		EA	9443	PLANT MATERIAL (5 GAL) (SHRUB)	\$23.95	\$226,159.85	\$19.76	\$186,593.68 CONTRACTOR'S PRICE: \$186,550.24	\$30.00	\$283,290.0
12.	192 6046		EA	1727	PLANT MATERIAL (MIN 3" CAL) (B&B)	\$539.75	\$932,148.25	\$540.38	\$933,236.26 CONTRACTOR'S PRICE: \$933,234.88	\$400.00	\$690,800.0
13.	193 6001		мо	12	PLANT MAINTENANCE	\$13,795.00	\$165,540.00	\$7,695.88	\$92,350.56 CONTRACTOR'S PRICE: \$92,350.58	\$1,400.00	\$16,800.0
14.	400 6008		SY	4059	CUT & RESTORE ASPHALT PAVING	\$53.00	\$215,127.00	\$62.82	\$254,986.38	\$80.00	\$324,720.00





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656 BID DATE: JUNE 20, 2018 **DEPARTMENT: CAPITAL IMPROVEMENT**

BID D	ATE: JUNE 2	0, 2018				DEPARTMENT: CAPITAL IMPROVEMENT							
						ACCENT LANDSCA	PE CONTRACTORS, C.		G COMPANY OF SO, INC.	JORDAN FOSTER LL			
						EL PA	SO, TX	EL PA	SO, TX	EL PAS	SO, TX		
1965 AST 1865			0.200000 (200)			jj	R 1 OF 5	BIDDEF	R 2 OF 5	BIDDER 3 OF 5			
(Principle)	Minte Company (1967)	usini (nama				CITY BASE							
771114					<u> </u>	BID UNIT PRICI	rankan atrawas manan ama arthi						
igg (figs. the						XDOT CSJ: 092	4-06-498						
	ITEM-CO	DE											
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
13-11 (13.7 - 178.1 13-17 (13.8 - 178.1 13-17 (13.8 - 178.1				a, sa st. sa									
15.	416 6029		LF	656	DRILL SHAFT (RDWY ILL POLE) (30 IN)	\$319.75	\$209,756.00	\$301.92	\$198,059.52	\$312.00	\$204,672.00		
16.	423 6004		SF	266	RETAINING WALL (CONCRETE BLOCK)	\$25.00	\$6,650.00	\$125.00	\$33,250.00	\$40.00	\$10,640.00		
17.	428 6001		SY	2620	PENETRATING CONCRETE SURFACE TREATMENT	\$5.25	\$13,755.00	\$13.00	\$34,060.00	\$14.00	\$36,680.00		
18.	500 6001		LS	1	MOBILIZATION	NO BID	NO BID	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00		
19.	502 6001		МО	12	BARRICADES, SIGNS AND TRAFFIC HANDLING	\$8,500.00	\$102,000.00	\$14,000.00	\$168,000.00	\$13,000.00	\$156,000.00		
20.	506 6040		LF	645	BIODEG EROSION CONTROL LOGS (INSTL) (8")	\$3.79	\$2,444.55	\$15.00	\$9,675.00	\$5.00	\$3,225.00		
21.	506 6043		LF	645	BIODEG EROSION CONTROL LOGS (REMOVE)	\$1.00	\$645.00	\$15.00	\$9,675.00	\$2.00	\$1,290.00		





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID DATE: JUNE 20, 2018

BID NO: 2018-656

DEPARTMENT: CAPITAL IMPROVEMENT

טוט ט	AIE. JUNE 21	,			,	DEL ARTHERT. OALTAE INITIOVEINENT							
		(3) (4) (5) (4) (5) (3)					PE CONTRACTORS, IC.		G COMPANY OF SO, INC.	JORDAN FOSTER LL			
	(4) (4) (4) (5) (6)				grades est discretate de la compressión de discreta	EL PA	SO, TX	EL PA	SO, TX	EL PAS	SO, TX		
						BIDDEF	R 1 OF 5	BIDDEF	R 2 OF 5	BIDDER	3 OF 5		
4102 (TO 10012) 5750 (CO 10012) 5750 (CO 10012)	150 (31 (3) (3) (3)	465 (455 1456)				CITY BASE	BID						
OSSIGNATOR SERVICES		orther contracts	Doga sidencesi	on campayay	BASE	BID UNIT PRIC	ESCHEDULE						
60 (US) (S)					T.	XDOT CSJ: 092	4-06-498						
	ITEM-CO	DE	200000000000000000000000000000000000000		ki kara ay saa in ka karanin ah karan 1900 ay ka baran								
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
				91. 09.95 ali			an department of the second						
22.	506 6044		LF	128	SANDBAGS FOR EROSION CONTROL (8")	\$3.00	\$384.00	\$12.00	\$1,536.00	\$6.00	\$768.00		
23.	528 6001		SY	584	COLORED TEXTURED CONC (4")	\$103.00	\$60,152.00	\$61.35	\$35,828.40	\$97.00	\$56,648.00		
24.	610 6161		EA	53	IN RD IL (TY SA) 30T-4-4 (250W EQ) LED	\$4,296.00	\$227,688.00	\$4,045.32	\$214,401.96	\$4,100.00	\$217,300.00		
25.	610 6162		EA	29	IN RD IL (TY SA) 30T-8 (250W EQ) LED	\$4,123.00	\$119,567.00	\$3,877.02	\$112,433.58	\$3,900.00	\$113,100.00		
26.	618 6023		LF	19635	CONDT (PVC) (SCH 40) (2")	\$1,739.00	\$34,145,265.00 CONTRACTOR'S PRICE: \$341,452.65	\$16.27	\$319,461.45 CONTRACTOR'S PRICE: \$319,441.82	\$18.00	\$353,430.00		
27.	618 6024		LF	22000	CONDT (PVC) (SCH 40) (2") (BORE)	\$30.50	\$671,000.00	\$29.07		\$30.00	\$660,000.00		
28.	618 6029		LF	1602	CONDT (PVC) (SCH 40) (3")	\$479.00	\$767,358.00 CONTRACTOR'S PRICE: \$7,673.58	\$29.21	\$46,794.42 CONTRACTOR'S PRICE: \$46,798.91	\$26.00	\$41,652.00		





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

BID DATE: JUNE 20, 2018 DEPARTMENT: CAPITAL IMPROVEMENT

						ACCENT LANDSCAI IN			G COMPANY OF SO, INC.	JORDAN FOSTER CONSTRUCTION, LLC	
						EL PASO, TX		EL PASO, TX		EL PASO, TX	
\$33.00 CLS 0.00 CLS 0						BIDDER		BIDDEI	R 2 OF 5	BIDDER 3 OF 5	
15500 (5550) (559		(17000000000000000000000000000000000000			DAGE	CITY BASE					
1990 1995 1995			istrativa vetamaze vetam		Substitute that it is a substitute to the control of the substitute that the substitute of the substit	BID UNIT PRICE KDOT CSJ: 092	4.476				
	ITEM-CO	nc			17	NDO 1 030, 092	4-00-430				
LINE			A			UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
35.01.011.000 (35.01.01)											
29.	618 6030		LF	4468	CONDT (PVC) (SCH 40) (3") (BORE)	\$39.79	\$177,781.72	\$37.66	\$168,264.88 CONTRACTOR'S PRICE: \$168,257.73	\$40.00	\$178,720.00
30.	620 6008		LF	40521	ELEC CONDR (NO. 8) INSULATED	\$3.59	\$145,470.39	\$3.28	\$132,908.88 CONTRACTOR'S PRICE: \$133,087.17	\$3.50	\$141,823.50
31.	624 6002		EA	69	GROUND BOX TY A(122311) W/APRON	\$1,073.00	\$74,037.00	\$994.50	\$68,620.50	\$1,100.00	\$75,900.00
32.	628 6032		EA	1	ELC SRV TY A 240/480 060 (NS)AL(E)PS(U)	\$7,395.00	\$7,395.00	\$6,826.86	\$6,826.86	\$7,000.00	\$7,000.00
33.	628 6037		EA	2	ELC SRV TY A 240/480 060 (NS)AL(T)GC(O)	\$6,686.00	\$13,372.00	\$6,023.10	\$12,046.20	\$6,000.00	\$12,000.00
34.	1002 6001		EA	102	LANDSCAPE AMENITY	\$88.00	\$8,976.00	\$16.69	\$1,702.38 CONTRACTOR'S PRICE: \$1,701.97	\$230.00	\$23,460.00
35.	1004 6001		EA	110	TREE PROTECTION	\$140.00	\$15,400.00	\$61.80	\$6,798.00	\$150.00	\$16,500.00





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

31D DATE: JUNE 20, 201	ö	
------------------------	---	--

DEPARTMENT: CAPITAL IMPROVEMENT

RDAN FOSTER CONST LLC EL PASO, TX BIDDER 3 OF 5	·
BIDDER 3 OF 5	
	OTAL MOUNT
\$88.00 \$4	491,568.00
\$65.00	\$54,665.00
\$230.00	\$920.00
\$35,000.00 \$2	280,000.00
\$12,000.00	\$60,000.00
	100 (50 (50) (52)
\$6,567,506.50	
VEC	
	\$65.00 \$ \$230.00 \$35,000.00 \$2 \$12,000.00

Approved By: <u>/s/</u>
Date: <u>6/22/18</u>





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID DATE: JUNE 20, 2018

BID NO: 2018-656

DEPARTMENT: CAPITAL IMPROVEMENT

		-,									
						1 1	NGINEERING D CONSTRUCTION	ZTEX CONSTR	RUCTION, INC.		
grap gri						EL PA	SO, TX R 4 OF 5	EL PASO, TX BIDDER 5 OF 5			
9210431741397	escoporálicazonscen		383W830W50	10.500203		CITY BASE	BID				
		0.000		CC 1001153 155	BASE	BID UNIT PRICI	SCHEDULE				
	85 (1): 45 (37 (38 8)			ecenteria. Gali	enangan engangan ang ang sarah 📆	XDOT CSJ: 092	4-06-498				
	ITEM-CO	DE	ni eneluterri	igines(eviple ottos		00.000.000.000.000.000.000.000.000.000					
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	9. (8.45) (7.14)										
1.	100 6001	-	AC	15.557	PREPARING ROW	\$3,014.20	\$46,891.91	\$2,809.76	\$43,711.44		
2.	100 6013	:	EA	125	PREP ROW (TREE) (2" TO 12" DIA)	\$241.24	\$30,155.00	\$195.13	\$24,391.25		
3.	104 6009		sy	4385	REMOVING CONC (RIPRAP)	\$7.24	\$31,747.40	\$22.00	\$96,470.00		
4.	110 6003		CY	6111	EXCAVATION (SPECIAL)	\$18.09	\$110,547.99	\$33.00	\$201,663.00		
5.	170 6001		LS	6	IRRIGATION SYSTEM	\$209,914.37	\$1,259,486.22 CONTRACTOR'S PRICE: \$1,259,488.22	\$140,244.00	\$841,464.00		
6.	192 6001	:	EA	608	PLANT MATERIAL (4" CNTR)	\$10.25	\$6,232.00	\$13.00	\$7,904.00		
7.	192 6015		LF	2662	LANDSCAPE EDGE	\$5.43	\$14,454.66	\$5.00	\$13,310.00		





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

BID DATE: JUNE 20, 2018

DEPARTMENT: CAPITAL IMPROVEMENT

יח חום	ATE: JUNE 2	0, 2018				DEPARTMENT: CAPITAL IMPROVEMENT							
(4) (3) (a) (4) (3) (4)		(1), (g) (g)				VENEGAS EN MANAGEMENT ANI		ZTEX CONST	RUCTION, INC.				
						EL PAS	SO, TX	EL PA	SO, TX				
(6. 1651 156)						BIDDER	4 OF 5	BIDDEF	8 5 OF 5				
(0)1003/1003/1003			Sieveler			CITY BASE I	BID		Sideral Haritida, para isan'a da batan na	turelling de direct edition	er elemberris in depresentació		
				(C. 1983) (S. 1889) (BASE	BID UNIT PRICE	SCHEDULE						
350 (850)			Storan uga		T)	XDOT CSJ: 0924	4-06-498						
dicariines.	ITEM-CO	DE	united the	(1000 SALESSANO)		proposition and contact and co							
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
8.	192 6017	-	SY	77098	VEGETATION BARRIER	\$2.11	\$162,676.78	\$2.00	\$154,196.00				
9.	192 6023		EA	40	PLANT MATERIAL (15 GAL) (TREE)	\$211.09	\$8,443.60	\$207.32	\$8,292.80				
10.	192 6030		EA	734	PLANT MATERIAL (3 GAL) (SHRUB)	\$26.54	\$19,480.36	\$31.00	\$22,754.00	,			
11.	192 6031		EA	9443	PLANT MATERIAL (5 GAL) (SHRUB)	\$30.16	\$284,800.88	\$31.00	\$292,733.00				
12.	192 6046		EA	1727	PLANT MATERIAL (MIN 3" CAL) (B&B)	\$452.33	\$781,173.91	\$659.00	\$1,138,093.00				
13.	193 6001		мо	12	PLANT MAINTENANCE	\$3,859.92	\$46,319.04	\$10,000.00	\$120,000.00				
14.	400 6008		SY	4059	CUT & RESTORE ASPHALT PAVING	\$18.09	\$73,427.31	\$53.00	\$215,127.00				





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID DATE: JUNE 20, 2018

BID NO: 2018-656

DEPARTMENT: CAPITAL IMPROVEMENT

ים טוט	MIL. JUNE 2	0, 2010						DEI ARTIGENT.	OAI HAL IIII NO	Y LINILIA I	
						VENEGAS EI MANAGEMENT AN		ZTEX CONST	RUCTION, INC.		
						EL PASO, TX		EL PA	SO, TX		
						BIDDER	4 OF 5	BIDDEF	R 5 OF 5		
						CITY BASE	BID				
	70		diginisan gani		######################################	BID UNIT PRICI	100° a 1 a 100° a 10° a				
					T	XDOT CSJ: 092	4-06-498				
	ITEM-CO	DE									
ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
15.	416 6029		LF	656	DRILL SHAFT (RDWY ILL POLE) (30 IN)	\$357.04	\$234,218.24	\$365.86	\$240,004.16		
16.	423 6004		SF	266	RETAINING WALL (CONCRETE BLOCK)	\$25.33	\$6,737.78	\$37.00	\$9,842.00		
17.	428 6001		SY	2620	PENETRATING CONCRETE SURFACE TREATMENT	\$16,28	\$42,653.60	\$6.10	\$15,982.00		
18.	500 6001		LS	1	MOBILIZATION	\$212,282.19	\$212,282.19	\$686,049.00	\$686,049.00		
19.	502 6001		мо	12	BARRICADES, SIGNS AND TRAFFIC HANDLING	\$9,649.79	\$115,797.48	\$9,756.10	\$117,073.20		
20.	506 6040		LF	645	BIODEG EROSION CONTROL LOGS (INSTL) (8")	\$1.21	\$780.45	\$5.00	\$3,225.00 CONTRACTOR'S PRICE: \$3,225.50		
21.	506 6043		LF	645	BIODEG EROSION CONTROL LOGS (REMOVE)	\$2.41	\$1,554.45	\$2.50			





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID DATE: JUNE 20, 2018

BID NO: 2018-656

DEPARTMENT: CAPITAL IMPROVEMENT

BID DATE: JUNE 20, 2016						DEPARTMENT, CAPITAL IMPROVEMENT						
						VENEGAS EN MANAGEMENT AN		ZTEX CONSTRUCTION, INC.				
						EL PAS	SO, TX	EL PA	so, tx			
	CONTROL CONTRO						BIDDER 4 OF 5		5 OF 5			
\$1.0(\$) (\$1)							BID					
(CAUNIA) NOTICE	5045 (Mercentinesti		(VIS/ASIA/AIN)	BASE	BID UNIT PRICE	SCHEDULE					
i e e e Verego, a e					D	XDOT CSJ: 0924	4-06-498					
	ITEM-CO	DE	www.	iros de de central								
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	
			Sentoures Sentoures	Mary activities of the								
22.	506 6044		LF	128 ⁻	SANDBAGS FOR EROSION CONTROL (8")	\$3.62	\$463.36	\$18.30	\$2,342.40			
23.	528 6001		SY	584	COLORED TEXTURED CONC (4")	\$98.91	\$57,763.44	\$54.00	\$31,536.00			
24.	610 6161		EA	53	IN RD IL (TY SA) 30T-4-4 (250W EQ) LED	\$4,783.89	\$253,546.17	\$4,842.00	\$256,626.00			
25.	610 6162		EA	29	IN RD IL (TY SA) 30T-8 (250W EQ) LED	\$4,584.86	\$132,960.94	\$4,636.00	\$134,444.00			
26.	618 6023		LF	19635	CONDT (PVC) (SCH 40) (2")	\$19.24	\$377,777.40	\$20.00	\$392,700.00			
27.	618 6024		LF	22000	CONDT (PVC) (SCH 40) (2") (BORE)	\$34.38	\$756,360.00	\$35.00	\$770,000.00			
28.	618 6029		LF	1602	CONDT (PVC) (SCH 40) (3")	\$36.05	\$57,752.10	\$32.00	\$51,264.00			

Approved By: <u>/s/</u>
Date: <u>6/22/18</u>





BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID NO: 2018-656

BID DATE: JUNE 20, 2018 DEPARTMENT: CAPITAL IMPROVEMENT

					VENEGAS ENGINEERING MANAGEMENT AND CONSTRUCTION		ZTEX CONSTRUCTION, INC.				
							EL PASO, TX BIDDER 4 OF 5		EL PASO, TX BIDDER 5 OF 5		
							3ID		BIDDER 9 OF 9		
					ter transferre	BID UNIT PRICE	المعاطرة فراوان والمعرفي ومعرا ومرافق ما ومرا معافلات				
(212.1557/1377) (72.0257/1311)					T	XDOT CSJ: 0924	1-06-498				
LINE	ITEM-CO	DE			T	l 	TOT 1			l	
ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
			(0.460)								
29.	618 6030		LF	4468	CONDT (P.VC) (SCH 40) (3") (BORE)	\$44.53	\$198,960.04	\$46.00	\$205,528.00		
30.	620 6008		LF	40521	ELEC CONDR (NO. 8) INSULATED	\$3.88	\$157,221.48	\$4.00	\$162,084.00		
31.	624 6002		EA	69	GROUND BOX TY A(122311) W/APRON	\$1,176.07	\$81,148.83	\$1,190.00	\$82,110.00		
32.	628 6032		EA	1	ELC SRV TY A 240/480 060 (NS)AL(E)PS(U)	\$8,073.26	\$8,073.26	\$8,171.00	\$8,171.00		
33.	628 6037		EA	2	ELC SRV TY A 240/480 060 (NS)AL(T)GC(O)	°\$7,122.76	\$14,245.52	\$7,202.00	\$14,404.00		
34.	1002 6001		EA	102	LANDSCAPE AMENITY	\$162.84	\$16,609.68	\$214.00	\$21,828.00		
35.	1004 6001		EA	110	TREE PROTECTION	\$90.47	\$9,951.70	\$122.00	\$13,420.00		



BID NO: 2018-656



BID TITLE: STREET MEDIAN AND PARKWAY LANDSCAPE IMPROVEMENTS

BID DATE: JUNE 20, 2018 DEPARTMENT: CAPITAL IMPROVEMENT

010 0	AIE: JUNE 2	U, 2010				DEPARTMENT: CAPITAL IMPROVEMENT						
81,746) (86) 11,446) (11,44						VENEGAS ENGINEERING MANAGEMENT AND CONSTRUCTION		ZTEX CONSTRUCTION, INC.				
						EL PASO, TX		EL PASO, TX				
							4 OF 5	BIDDER	5 OF 5			
							BID					
							SCHEDULE					
	ITEM-CO	DE				KDOT CSJ: 0924	1-00-490					
LINE ITEM NO.	ITEM NO.	S.P. NO.	UNIT	APPRX QTY	BRIEF DESCRIPTION OF ITEM	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL . AMOUNT	UNIT PRICE	TOTAL AMOUNT	
										Evidinary or a management		
36.	1005 6001		CY	5586	LOOSE AGGR FOR GROUNDCOVER (TYPE I)	\$150.78	\$842,257.08	\$72.00	\$402,192.00			
37.	1005 6002		CY	841	LOOSE AGGR FOR GROUNDCOVER (TYPE II)	\$102.53	\$86,227.73	\$81.00	\$68,121.00			
38.	1005 6003		CY	4	LOOSE AGGR FOR GROUNDCOVER (TYPE III)	\$96.50	\$386.00	\$220.00	\$880.00			
39.	6182 6001		EA	8	TMA (STATIONARY)	\$68,031.05	\$544,248.40	\$36,586.00	\$292,688.00			
40.	ELP01		EA	5	WING MONUMENT SIGN	\$18,093.36	\$90,466.80	\$10,976.00	\$54,880.00			
galanger (Section) en visit (Section) en visit (Section)												
SUM TOTAL BASE BID; ITEMS 1 - 40:					ITEMS 1 - 40:	\$7,176,281.18		\$7,219,115.75				
AMENDMENTS NO. 1 & 2 ACKNOWLEDGED:						YES		YES				
BID BOND SUBMITTED						YES		YES				

Views (BID # 2018-656

	(BID # 2018-656)										
1	Kyle, Bellomy	ConstructConnect									
2	Hemandez, Cecilia	The Planit Room									
3	Wood, Jayne	Construction Reporte									
4	TYREE, BRUNO	CONTRACTOIRS & ENGIN									
5	Figueroa, Joseph										
6	Paredes, Raul	Jobe Materials									
7	Escobedo, Mario	EGL Construction Inc									
8	Ruiz, Erika	Vertex Contractors,									
9	onvia, onvia	onvia									
10	Hudson, Brad	Direx Construction,									
11	Austin, Fork	Wayne Enterprises									
12	Deg, Maria	Contractors Register									
13	Dodge, Montana	Dodge data and analy									
14	ortiz, abel										
15	Concha, David	CEA Group									
16	Archie, Banks	Globe Builders, LLC									
17	acosta, german										
18	Pena, David	Accurate electric									
19	Simms, Barry	Barry Simms Inc.									
20	Counts, Tim	Accent Landscape Con									
21	Motta, Alejandro	Tri-State Electric,									
22	Gibson, Patty	construction Bid Sou									
23	Chacon, Salvador	Allied Paving Compan									
24	Luna, Hector	Black Stallion Contr									
25	Wormley, Randy	Majesty Maint And Cl									
26	Stephen, Dowdy	Larwel Industries									
27	Andrea, Klinefelter	Kimley-Horn									
28	Pamphile, Vernel	Caribe Solar Usa									
29	MARTINEZ, ALONSO										
30	Felix, Lupe	Prime Irrigation And									
31	Gaglio, Michael	High Desert Native P									
32	Murillo, Marco	Compa Contractors									
33	Guillermo, Ovies	J.A.R Concrete Inc.									
34	Gallegos, Mari	Abescape									
35	Hessney, Steve	Bowen Industrial Con									
36	Leos, Joaquin A	J.A.R Construction									
37	Olguin, Jeannette matyear, william	Vitual Builders Exch									
38		matyear const. co.									
39	Watson, Frank										
40	Banquil, Lovely martinez, avelardo										
41		martinez irrigation									
42 43	Ortiz, Cano DIAZ, RIBERTO	El Paso A.R.C. Elect									
43	heinig, walter	MRD LANDSCAPING greenstar led									
44	Alejandra, Maynez	yreenstaried VEMAC									
46	Leanos, Nancy	Aztec Contractors, I									
70	Econos, Nancy	AZIOC CONTRACTORS, I									

47	VOLTER, Electrical Construction Corp	VOLTER
48	Jorge, Ojeda	HAWK Construction
49	Tarin, Manuel	Ztex Construction
50	Hemandez, Juan	Hydrozone Landscape
51	White, Brian	High Voltage Electri
52	mena, Robert	RAndD Property Servi
53	Francis, Kenneth	Surroundings
54	David, Stone	Vistex Graphics, LLC
55	Rojas, Rojelio	Master Team USA IIc
56	Rice, Kelley	Winstead PC
57	Gretchen, Garcia	El Paso Water
58	Medlock, Steve	Medlock Commercial C
59	Rugh, John	AMTEK
60	Cooper, Wayne	Meridian Green Works
61	JONES, JENNIFER	GROWING CONCERN
62	Salazar, Victor	GCC Sun City Materia
63	Garcia, Alfonso	1988
64	Esparza, Francisco	Moss and Associates
65	Morris, Bryan	RBM Engineering, Inc
66	Joaquin, Royo	ZTEX
67	Adame, Rogelio	ZTEX Construction
68	Fernandez, Robert	Arrow construction
69	Jeffreys, Stephen	Independent Mfrs Rep
70	michell, Deborah	pmi
71	Borja, Javier	Martinez Bros Contra
72	Ramos, Angel	New Republic Archite
73	Oropeza, Francisco	HNTB

Hellas Construction,

74 Aaron, Gage